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+ BRI AT m3 15.76 16
BRI RC-40 m3 0.23 0.23
BiasnT T BAVTIY) (=R m3 0.77 10.00 11
T BEtmsT BTt (=R) m3 9.11 9
PUE: TE(=R) m3 0.77 10.00 11
PUE: E=R) m3 9.11 9
FTERYT TR m3 39.33 39
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BT t=15cmIA T (=) m 13.00 228.40 2414 SEVIMESRLY
UM T t=15cmIA T (ZR) m 10.70 282.50 293.2 SEVIMESRLY
] FRI7ILREURL FARE (—R) t=5cm m2 1.95 25.20 27.2
FARI7ILREURL TR (—R) t=12cm m2 27.90 27.9
FRI7ILEEUEL FAR (ZR) t=5cm m2 393.26 157.36 550.6 FHEHEE - —RBEBRIRUTRABEHRLY
FARI7ILREEL FAR (ZR) t=12cm m2 155.54 155.5 —RBBIRUTRABEHRLY
BT RC-30 t=10cm m2 53.10 53.1
BT (=R RC-30 t=7cm m2 155.54 155.5 “REBIRUVT7RABERLY
S TE®RET RGC-40 _t=28cm m2 1.95 20
LT M-30 t=10cm m2 393.26 393.3 FHEHEELY
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*ET BE$13Topt=5cm(ZK) m2 393.26 312.90 706.2 FHEHEE-mEHEELY
PUE: FRE (—R) m3 0.10 4.61 47
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LSEl (Bt m)
BEEZ B 18 0.3m [l 65 x 2 13
KEREE A 54 + 53 10.7

IR mE
Fr {8l 70 + 55 125
BERZERHE 18 0.3m |Mqa) ( 4 - 03 + 22 + 3+23) x 2 103.4
5 228.4
gt 70+ 75 + 4 - 06 -1+ 4 — 1.7+ 55+ 23 227.7
AN T {l ( 22 + 54) x 2 54.8
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IniRTHE
A 0.6 m -0.3m = 0.3 m X 70m = 21 m2
1m -0.7Tm = 0.3 m X 75 m
B = 225 m2 + 6.5 m2 = 29.00 m2
C 2.1m -0.7Tm = 1.4 m X dm = 5.6 m2
D 1.7 m -09m = 0.8 m X b m = 44 m?2
E 2.3 m -09m = 1.4 m X 22 m = 30.8 m2
F 3m -09m = 2.1 m X 54 m = 11.34 m2
G 0.9 m -03m = 0.6 m X 23 m = 13.8 m2
45 155.54 m2
BB
gHEE  0.06m
FTELYI(t=10cm) 393.26 m2 X 0.1 m = 39.33 m3
TR (2R) 49 393.26 m2 X 0.05 m = 19.66 m3
MR M E
gHEE 012 m -0.05m = 0.07 m (ZXREEE)
TR#E (2R) o5 0.12m x 15554 m2 = 1867 m3  (t=12cm)
0.05m x 15736 m2 = 7.87 m3 (t=5cm)

&5t 26.53 m3
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NO. 0 0.0 0.0 5.40
NO. 1 200 200 6.30 5.85 117.00
NO. 2 400 20.0 6.75 6.53 130.60
NO. 2 + 90 490 9.0 7.10 6.93 62.37
NO. 2 + 90 490 0.0 6.25 3.13 0.00
NO. 3 60.0 11.0 5.85 6.05 66.55
NO. 3 + 3 63.0 30 5.30 5.58 16.74
NEt 63.0 393.26
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R (m) & (m) FEREm2) |
A 700 0.60 42.00
B 750 1.00 75.00
c 21 400 8.40
D 55.0 1.70 93.50
E 220 2.30 50.60
F 30 5.40 16.20
G 230 0.90 20.70
IEE 250.1 306.40
At 3131 699.66
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BRI 8
BRI | m3 - 0.30 * 0.398 1.0
HRET ] m3 -1 ( 0.30 * 0.348 /4 x 0.048 "2) x 1.0
HRET BAL m3 0.089 0.30 * 0.298 1.0
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—R BAEBHEAs (13)
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*=EBI(1) L3R EETRGES HTA%K
(838 - B2, 183.00 £ t=50) 39326 m2 + 2,300 m2/8 = 0.170 H

EXET(2) SEHE EEDr=T T RK
(EE- BB, 181450 £3.0LLF . t=50) 31290 m2 = 1,300 m2/H = 0.240 H

*=EI(3) SHE B YRR iz
(E1E - BB IR1.4A%KE, t=50) 5505 ~m2 =+ 250 m2/B = 0.220 H

REEETET Eye By EER jan=F4
(#RMAE Y RC-30,t=30mm) 15736 m2 =+ 1,510 m2/H = 0.100 H

AR T SEHE EEDr=T BTAK
60385 m2 + 940 m2/H = 0.640 H

SRR T X B4 g HBIAK
(t=15cmLLF) 534.60 m + 230 m/H = 2.324 H

EHEERREVE L E EELEE= jond=E S
(t=15cmIUF) 761.21 m2 =+ 510 m2/H = 1.490 A

T

YEH T B EEDE== HBIAK
(£#) 1077 m3 =+ 32 m3/H = 0.340 H

YEH T B EEDE== HBIAK
&) 9.11 m3 =+ 25 m3/H = 0.360 H

BRT B EEDRES HEIAK
1599 m3 =+ 40 m3/H = 0.400 H

3‘ % Hy U T SEEE EEDEG3+ HLAH
3933 m3 =+ 32 m3/H = 1.230 H
LR EI A% 751 H

TREEED
%8B 8B x 3 A/ = 24 A




